fluo:venl
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fluo:esci
cita:paro
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bupr:esci
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cita:mirt
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Lsert.ven

bupr:paro
mirt:paro
cita:esci
dulo:esci
dulg:paro
esci:paro
fluo:paro

Comparison

direct

indirect via bupr
indirect via cita

indirect via esci
indirect via fluo

indirect via fluv

indirect via mirt

indirect via paro
indirect via rebo

Fixed effect model

Odds Ratio OR 95%-CIW(fixed)
o 1.16 [0.83;1.62] 21.7%
—— 1.26 [0.85; 1.85] 16.3%
— 0.85 [0.38;1.87] 3.9%
= 0.74 [0.43;1.27] 8.5%

P 2.00 [1.47;2.72] 25.8%
T 2.80 [1.01;7.77] 2.3%

T 0.64 [0.35;1.15] 6.9%
T 0.81 [0.45;1.46] 7.0%
: 1.63 [0.38:6.97] 1.1%

*
< 1.29 [1.10; 1.50] 100%

Heterogeneity: 1?=66.2%, 1%=0.1335, p:0.|0016 :
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favors sert

favors venl



